(DTHSEE RibiERIRE NXRERE

S 6 F3831HRAE

\

AR E ARt R B AR

HH €% (M) =ES
) 1-HIlF E R 39,447
)4 i o
2. BT E
{D\ EREALER)Z S 950,184
ol MEERKRRELAN 26,280
AP |3, FDith 28,456 AN 2176
&&t 1,018,087
IEH £%5 (M) eSS
" YEEHX(1,000M/h)
% SE 337,500 22 7 s (2000F3 /)
H T — M #448 43 (800 1 /[A])
> 2. BA-—RE 152,625\
3. 4V i 8 598,157
4. ZzDith 143,895 |1% B RN, RIZF fth
&Et 1,232,177
T HOEREEM
ima 25 | 2%
N=E
4~3H e EIET 1= 337,500
/]\n-|- 337,500
2. BA-)—RE
4~3F |NIHLHA & e iE 4 56,100
FyIT)—@ 2,475 M*x 39 ¥ 96,525
INET 152,625
3. NEE
4A~3R |BEXELUS— T—LBEIEIEEXERTE 498,425
A~3A |BEXE I—EHBERE 99,732
INET 598,157
4. O
4~38 [BER 5,729
4~3H [{RI& 29,760
4~38 (RIAFEH G EHE 8,474
4~3 A % B REN 10 &% 114,000
4~38 |HEEYR LB EEEEZESEEE - FHE ~14,068
INET 143,895
IRA &G XHEET X8
1,018,087 [ - 1232177 H = A 214,090 =8|
KEAEBRE. EARDFHEEMISTALELS:
REEWRHME= O0H

_3_




